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The figures in the margin indicate Jull marks Jor the questions

ALLOTMENT OF Marxks
Q. No. 1 carries I mark each : 1x12 = 192
Q. Nos. 2-17 carry 3 marks each : 3x16 = 48
Q. Nos. 18-25 carry S marks each : Sx8 = 40

Total = 100
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(2)

1. Answer as directed : 1x12=12

P T i

(@) What is the difference between {¢} and 0?
{0} T -3 IS ~412F R 2 |

(b) Find the sum :

(19 e

1,1 1
1+ =—4+—+=+-..
2 4 8
(c) Mention one use of vital statistics.

(& ~IPRYIT 61 IR S| 991 |

(d) Fisher’s index number is the of Laspeyres’ and
Paasche’s indices.

( Fill in the blank )
fRPOIRT IPF 2 FABCRITG A A1 oI .
(1E 372 o 1 )

(e) What do you mean by census?

TelRE et R e 2

(f) Extreme values have no effect on median.

( Write True or False )
TS €[9S B3 TS (T AT 99(] |

(9% 1w sy
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(3)

(g) Define arithmetic mean for grouped data.

MRS BAF A “TIBY T’ AR |

(h) Variance is always non-negative.
( Write True or False )

AR ST ST |
( (1 SRy 1 )

(i) For a distribution, if mean > median > mode, then it is
said to be skewed.

( Fill in the blank )

maﬁaﬁmaﬁw>aw>w&mw_
2If ST el (I =W |
(zn%ﬁérﬁvﬁw)

() Who introduced the term ‘demography’?
SR TSI AINCB (G A1 R 2

(k) What is the total number of terms in the binomial

expansion of (a + x)2"?

(a + x)°"3 Taom opTRerS g5 RN o IR ?

) If @) F(0)=x2 then (cot3)

[112, Flxdx = ?
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3. Foradistribution
0-32, standard deviation i
mode and median.

9B IGg I PR Cy BT O
0 29+6. 32579 W16 Far1 Syey |

Write a note on kurtosis of fre
RIS AT I TR @i «of

4. Distinguish between measures
measures of dispersion.

@@ﬂﬂi&amﬂwmmvﬁmw

/117

» Karl Pearson’s coefficient of skewness is

S 6'5 and mean Is 29.6. Find
32, A vy 6'5 e

Or / &2y

quency distribution.

Bl o<y |

of centrg] tendency and

M0 forayy |
Or / &=y

Write the characteristics of i

S ST CafkiEy fayay |

deal average,

3




(5)

6. Write a short note on ogive.

warey eo[e «ft 5 (B fora |

Write a short note on histogram.

32 1 Seiay 8o «fb 55 (O {1 |

7. Distinguish between time series data and spatial data.

Or / 9241

BT O WF FT ©’T qerS 2N ol |

8. Mention limitations of index numbers.

oPRFT ANRES! SCH T |

for NRR< 1, >1 and =1.
o e T4 (NRR)T sie | NRR < 1, >1 91§ =1 (AR

Define Net Reproduction Rate (NRR). Interpret the results

3

1+2=3

Foyetce! I
10. From the following data, calculate crude death rate. 3

o7 S i SRS I 2@ el <
ge group (in years)| 0-10 | 10-30 | 30-50 | 50-70 | >70
7 99 (TET0)
Ppopulation 15000 | 21000 | 53000 | 35000 | 4000

I
Deaths 1000 250 40 80 2000
[ —
[ Contd.
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11. State the difference between S€asonal variation and

cyclical variation in g time series. 3
IR IS W1 58 e NPT oy |

Or / g%
Define time series. What are ijtg components? 1+2=3

PR ST gy |9 SoICsE B o

12. If @) x =2 422/3 ;513 » show that (egear cg)

X% -6x2 +6x-2=0 3

Or / 2=y

If p, g and r be the Sums of n-terms of three arithmetije
progressions (APs) each having first-term 1 and commgop
differences as 1, 2, and 3 respectively, then prove that

13. Write the addition principle of Counting. Ip h
Ways can the letters of the word ‘STUDENT be
such that vowelg rémain together.

Arranged
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(7))

14. Find the coefficient of x° in the expansion of

)

11
(x-—l-) - 2PIReTS x° -9 el Ty 41 |

ax

Or / §31

Show that 2 < e < 3, where eis the mathematical constant. 3

(MYeA A2 < e < 3, IS e (FR AT &7 |

. dy
15. Find = :
l dx
Sfersan iy— :
dx
(@) x=logt, y=¢€
(b) y=xe™
16. Integrate (any one) :
e 1 (R G @)

@ [ %

log x
€ " dx

) [

X

/117

1%2+1%=3
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(8)

17. Evaluate (any one) :
et 1 (R e @) -

(@) f; x2(L- x)dx

(®) [o x% e % gy

18. Find the correlation coefficient between X and Y from the
following data :

O] Y[ °{1 X IF Y I IR AT BT ey 4y

X | 2 4 5 6 8 | 11
Y | 18] 12 | 10 | 8 7 2

Or / &%:1
The equations of two lines of regression are as follows -
TARRY (IS AN '

8X -10Y +66 =0
40X -18Y =214

Find the correlation coefficient between x and v
X SIF Y T e o797 3e015s fNofy 351 |

19. Write merits and demerits of quartile deviation

PRI IO & SR g forgy |
Or / w3y

Write merits and demerits of Standarq g
e

2mifas 5 (SD)g BT INF TR fargy |

Viation
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20.

21.

/117

(9)

of variation

Find coefficient from following
distribution :
Told IBCOI [ 59 @i e 1
X 10 11 12 13 14
Y 3 12 18 12 S
Or / 931
Calculate coefficient of variation from the following data : S
werq [ “F1 6390 @sE Aoy 9
Marks No. of Students
39 RIGY J13307
0-20 8
2040 20
40-60 S50
60-80 70
80-100 80
Find mean, median and mode of the following
distribution : 5
oo il IO AT, TN WF IS o 390
Class Interval Frequency
) S LIS
0-8 8
8-16 7
16-24 16
24-32 24
32-40 15
40-48 7
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(10 )

Or / &1
Find Q,, D4 and Ps, from the following data : 5
OFY AN °[1 Qy, Dy SF Ps fAy 1
Class 5-10 | 10-15 | 15-20 | 20-25 | 25-30 | 30-35 35-40
1
Frequency 10 15 25 40 35 20 5
@ew
22. What is the use of Cost of Living Index Number (CLIN)?
Mention the methods of construction of CLIN. 1+4=5

8 -z FRF (CLIN)
SEY 90 |

Or / g1

Calculate (a) Laspeyres’ Price Index an
Quantity Index from the given data, taki
year :

R =M ? CLIN sy ez

d (b) LaSpeyres’
ng 2021 as base

2021 < fofe 3§ et a1 SR R o (a)?'nrzf’fznausq\:isﬁaim°$
S (b) S6CRIRES “IRA14 SoF el 3 - '
2021
. 2023
Commodity ) T
T Price Quantity Price W
£ il bl ﬂﬁwty
A 10 }\
12
B 8 .
- 10
10 5
12 4
D 3 12 .
5 s , 15
5
N\ g
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23. Explain briefly ‘general fertility rate’ and ‘total fertility

rate’. 5
el el T S Y0 TFTel T HRF I T
Or / 9341
Find from the following data : 2+3=5
worq o o e 40
(a) Crude Death Rate
Fefde T /9
(b) Standardised Death Rate for the population A
A GPRINE IR AWINFS I91 =S
—
Standard Population Population A
SATIAF SR TP A
Age GrouP | popylation | Specific | Population | Specific
iid wweql | Death Rate | wpian | Death Rate
ff7g e
TIRA EEZA

0-5 8 50 7 48

5-15 10 15 12 14
15-50 27 10 25 9

> 50 5 60 4 59
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24. Fit a straight line trend to the following data and estimate

sales for the year 2022 : S
OIS O Rl IR el el 71 W 2022 w9 R wiee
P91
Year | 2014 | 2015 | 2016 | 2017 | 2018 2019 | 2020 | 2021
=T
Sales 12 13 13 16 19 23 21 23
R
Or / 5«1
Write the merits and demerits of least square method. 5
TN of ST B F AR B |
25. Find : 22+2Y,=5
Sforeq :
. ox-1
a) lim
( ) x—)l\/;—l
_ 42
(b) lim 2= Y4-X N
x—0 X
Or / 9271

If f(x)=[x|VxeR, then check whether the function £ i
continuous at x =0. 5

M f(x)=|x|VxeR, (@ f T x =0 fe wfifen 2’3 =
{151 T |

* ok &
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